Make a Whole

1.0.26 +0.74 =1

2.A.041;B.0.19; C.1.55

3. 86 hundredths

4. Seth is incorrect, he has not used number bonds to 100 to make one whole. He needs
to add 0.62 as 0.38 and 0.62 make one whole.

5. B is the odd one out because it represents 0.4 + 0.4 = 0.8, whereas A and C both
represent calculations which make one whole.

6. Various answers, for example: 0.07 + 0.93; 0.67 + 0.33; 0.47 + 0.53

Classroom classroomsecrets.co.uk
\_secretsx Make a Whole ANSWERS

© Classroom Secrets Limited 2021



